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1. After'China and USA, which among

-

A

the following is the largest producer
of fertilizers?

(o) Brazil
(b) India )
{¢/ Indonesia ' ‘a .

(d) Russia

2. In India, the total area cbvered under

the cultivation of food grain crops is
{a} less than 100 million hectares

{b) between 100 and 150 million
hectares

c) between 150 and 200 million
hectares

{d}  more than 200 million hectares

| 3. Consider the following statements :

&
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1. High nitrogen content and low
" phosphorus content in soil
reduce nitrogen fixation.

2. .The amount of nitrogen fixed
by Rhizobium with green gram
is several times more than that
fixed with lucerne.

Which of the statements given
above is/are correct?

{a}+1 only .
(b). 2 only

fc¢) Both 1 and 2

'y
(d) Neither 1 nor 2

(@) 1 only E

- 4, Consider the following : " i

-

The prerequisites that must be mct
for the satisfactory production of
rice are v e

'(' [ § i 1

L]

1. a relatively high temperature
during the growing sceason

2. loose-textured soil to allow
regular seepage of water

Which of the abovc is/are correct?

[§

(b) 2 only
{¢) Both 1 and 2

{d) Neither 1 nor 2

5. Azolla, grown as a green manure for

rice cultivation, has a limited scope,
because

£

{a) it requires adequate waltcr
supply for about a month
before planting

b i o ’

(b) it requires very high dose of

phosphate supply for its rapid
multiplication

{c) it is affected by insect-pests

(d) its seed is not available as
it does not sporulate under
Indian conditions
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6. Consider the following statements :

1. The National Food Security
Mission has been so far

launched in 160 identified
" districts of 12 States only.
2. The Mini-Mission-II of the
Technology Mission on Cotton
is being implemented in 45
identified districts of 6 States
only.

Which of the statements given
above is/are correct?

{a) 1 only

(b) 2 only
{c) Both 1 and 2

{d} Neither 1 nor 2

7. Marginal product of an input is zero,
when

{a} the total product is maximum

f(b) the marginal product is
maximum

- . (¢} the input is not used

(d) the average . product s
maximum

8. Which of the following comes closest
to the definition of opportunity cost
of product A?

fa) The market price of the factors
of production used in the
production of product A

(b} The value of an alternative
product B which could have
been produced with the same

' quantity in  factors  of
production used in producing
product A
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(c)

(cf)

The market price of the. factors
of production required to
produce B

The market price of product A

9, Consider the following statements
~ about the competitive relationships
" between two farm enterprises :

1.

Some amount of one product
must be given up to increase
the level of the other product.

Marginal rate of substitution
between the products s
negative.

They may substitute at
constant rate, increasing rate
or decreasing rate,
i

Most of the decisions regarding
choice of farm products are
related to decreasing rate of
substitution.

Which of the statements given
above are correct?

(a)

(b}

{c)

(d)

1,2, 3 and 4
1, 3 and 4 only
1, 2 and 3 only

2, 3 and 4 only
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10. Consider the following statements :

Average 'Physical Product (APP)
measurcs the

1. cfﬁcienc;f of the variable input
2. level of output per unit of input

3. additional output due to the
usc of additional input

Which of the statements given

above is/are correct?

(aj 1 and 2
fb) 2 and 3
« {c}- 1 only

{dl 2 only

11. “Mechanization in agriculture causes
displacement of agricultural
labour.” Which one of the following

-does not fully support this view-
i point‘?

(@) There is a greater outflow of
agricultural labourers to the
cities in search of jobs

(b} The total number of man-days
utilized in fact decreases after
mechanization

fc) There is a tendency among
agricultural labour to improve
their skills

(d) The marginal productivity of
labour will decline
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12. Consider the following :

.t

In a classical production function
relationship, the APP and MPP is as

* follows .
1. APP > MPP at II stage
2. APP=MPP at the end of II
stage '
3. MPP > APP at Il stage
4. MPP is negative and APP is

positive at III stage

Select the correct answer using the
code given below :

Code :

fa)
(b)
fc)
(d)

1 only

1 and 3
2 and 3
1 apd4

13. Match List-I with List-II and sclect
the correct answer using the code
given below the Lists :

A

D

List- List-II
. MR=MC 1. Equimarginal
return
. AX)/AXy = Py, [Py 2. Optimum
& product
combination
. AY /AY, =P, /P, 3. Cost
minimization
. MR, =MR,, 4, Optimum
level of input/
output
Code : :
fa} A B C D
4 3 2 1
(h) A B C D
4 2 3 1
{c) A B C D
1 3 4 2
fd) A B C D
1 2 3 4
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14. Match List-I with List-1I and select (c) ((l}ross Income/Tota[l Value of

the correct answer using the code Farm Assets) x 100
given below the Lists :
ListI ListT (d) {Capital Investrflent/Total
Value of Farm Assets} x 100
{Farm Income} {Measure} :
A. Family Labour 1. GI-Cost A; /A,
Income . 17. The ridge lines represent the point of

maximum output from fixed

B. Farm Business 2. GI-Cost A/A
s ost A1/ Az quantity of other inputs. On ridge

Income — Family labour lines, the MPP is
_ wage
C. Net Income 3. GI— Cost B (a) equa_l to one )
D. Farm Investment 4. GI- Cost C . '
Income {b) equal to zero
Code : |
€ . {c) greater than zero ‘ .
faj A B C D
‘ 1 2 3 4 (d) less than zero
(b} A B C D .
3 4 1 2 18. The intercropping of maize and
g A B C D o soybean leads to maximization of
1 3 2 4 A returns in comparison to sole
’ fd) A B c D cropping of maize or soybean.
) ' 3 1 4 2 Which one of the following
[ by o describes the enterprise relation-
. 15. Additional quantity of cutput, added - ship leading to higher returns from
" by an additional unit of input is “ maize and soybean?
' known as ‘ .
| . Ak {a) Supplementary rclation

{a) Average product :
(b} Complementary relation

: {c) Competitive relation
{c} Total product -

w
d) Substitution rclation
(d) Average factor product (@

} (b} Marginal product
|
19. What is the first naturally occurring

| 16. Which f the following formul
6 ich one of the following formuiae cytokinin, isolated from plant

_ gives the correct measure of Rate of , k
} Capital Turnover? ' tissucs?
fa) Kinetin
. fa) {Net Income/Total Valuc of
| Farm Assets) x 100 {b) 6-Furfuryl amino purine

(b) {Farm Business Income/Total {c) Zeatin

Value of Farm Assets) x 100 (d) Benzyl adenine
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20. What is the role of Mn2* in 23. The aerobic respiratory cycle ‘i§
photosystem-II complex of photo- - associated " with nitrogen
synthesis? metabolism through which of the
(a) Release of O, following intermediate compounds?

fb) Activation of RuBP carboxylase
(¢} Production c_)f ATP
fd} Reduction of NADP*

-

fa) ¥ a-Ketoglutaric acid ' T .’

I !
' {b} O=xalosuccinic acid

fc) Citric acid
21. Which one of the following nutrients

is  closely related with the {d} Malate
carbohydrate transport within the \
plants?

24. In which of the following does the

(a) Manganese biochemical fixation of CO, by

(b} Potassium RuBP carboxylase in plants having

{c) Phosphorus C, photosynthesis take place?

(d) Boron fa) Chloroplasts of the mesophyll
22. Match List-I with List-1I and select fb) Cytoplasm of the bundle

the correct answer using the code sheath cell

given below the Lists :
fc) Chloroplasts of the bundle

List-I List-IT sheath cells
{Enzymes) {Substrates)
f hyil
A. ATP sulfurylase 1. N, (d) S;:oplasm of the. mesophy
B. Asparagine 2. Glutamine and
thet artate . - - .
Synrietase asp 25. Consider the following statements”:
C. Glutamine 3. Sulphate W ) ' o .
synthetase 1. Auxin has a role in delaying
the onset of leaf abscission.
. Ni . Gl
D. Nitrogenase 4 utam?.te and 2. IAA is synthesized primarily in
ammonia
. the roots.
Code : ; Which of the statements given r
faj A B ,C D above is/are correct?
1 2 4 3 T - s LN S
(b) A B fe) D fa} 1 only
3 4 2 1 2 onl
: only: .
€/ A B C D ) Y
32 4 1 . {c/ Both 1 and 2
fd A B C D v
1 3 2 4 {d) Neither 1 nor 2
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1 3 2 4
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26. What is the first formed product.of

carbon assimilation in C, plants?
fa) Oxaloacetic acid

() Malic acid

{c) Aspartic acid

{d) 3-Phosphoglyceric acid

27. What is the key intermediate of citric

acid cycle for biosynthesis of fatty
acid?

" {a) Pyruvic acid
(b} «a-Ketoglutaric acid
{c) Acetyl-CoA

{d} Citric acid

LTI

28. What is the starting material of

biosynthetic
* gibberellins?

pathway of

(a) Mevalonic acid
(b) Carporyl pyrophcsphate
{c) Kaﬁrene

{(d) Acetic-acid

29. Which one of the following can cause

the sprouting of potato tubers?
{a} Phenol

{b) Ethylene

fc) Auxin

{d) Thiourea
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30. Which one of the following growth

substances extends the lifespan of
detached leaves?

fa) Cytokinin
{b} Gibberellin.
(c) Abscisic acid

(d} Indoleacetic acid

31. In an F, population of a cross, if fifty

percent recombinant individuals
are observed, which one of the
following is the main cause for this?

fa) Segregation
V{b} Independent assortment
{c) Linkage '

(d} Sexual reproduction

32. Consider the following statements

with regard to the functions of the
centromere in the chromosome :

1. . Centromeres are the centres of
movement of the chromatids or
chromosomes during anaphase
separation. ,

2. Acentric chromosomes lack
the capacity to segregate in a
regular fashion.,

3. Crossing-over in one arm of a
metacentric chromosome does
not affect the crossing-over in
the other arm of the same
chromosome,

Which of the statcments given
above are correct?

fa) 1, 2 and 3

{b} 1 and 2 only
(c/ 2 and 3 only
{d} 1 and 3 only
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33. Match List-I with List-II and select . 35. A mutant gene in Hordeum vulgare

the correct answer using the code produces albino seedlings at
given below the Lists : temperature below 8 °C. But when
) : ) the seedlings carrying this gene
List-1 List-I are grown at 19 °C or above, they
(Plant organj (Ploidy level) develop into  normal  green ;
A. Nucellus 1. n seedlings. The characters whose
o development depends upon a
B. Synergid 2. 2n specific environmepnt are known as
C. Endosperm 3. 3n
(a) Discrete characters
Code :
{b} Quantitative characters .
@ A B C {c) Threshold characters
2 3 i
b) A B c (d) Pleiotropy )
1 2 3
36. The condition in which a gene in a
| {c A B C homozygous recessive condition
| 1 3 2 (aa) masks the effcct of one or both
5 the members (B or bb) of another
d A B C gene pair is known as
2 1 3
{aj Duplicate recessive epistasis
34, If a female plant of genetic {b) Recessive epistasis
constitution AABB is crossed to a ] ) .
male plant of genetic constitution {c} Dominant epistasis
. aabb, and the F, is testcrossed, the ) )
genctic constitution of testcrossed (d) Dominant  and  recessive
progenies will be epistasis
{a) 1 AABB : 1 AAbb : 37. Which terminology is considered to
1 aaBB : laabb be correct when two genotypces
produce the same phenotype due to
(b)) 1AABB : 1 AaBb : different environments?

1 AaBB : 1aaBb
{a} Genotype
{c} 1 AABB : 1 AABD :

Phenotype
1 AaBB : laabb ] P

{c) Phenocopy

(d) 1 AaBb : 1 Aabb : .
1 aaBb : laabb (d} Pleiotropy
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© B. WeW™ &Il 2. 2n . ¢
. C. Yo 3. 3n
He
@ A B C
2 3 1
() A~ B C
1 2 3
€/ A B C !
1 3 2
' A B C
2 1 3

34. i AABB g FER AR AE RS
%l aabb IERE TAE T | IRH @
gl fpm s @ e B oo qland

T F § o Thened wEia watE $
IgafiTs e F e
.. e 1AABB : 1AAbb: _ _

1 2aBB :. laabb
(bj 1 AABB : 1 AaBb :

1 AaBB : laaBb
fc) 1AABB : 1 AABDb =

1 AaBB : laabb
{d) 1 AaBb : 1 Aabb :

1 aaBb : laabb
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35. @dfm @R A IafEd i 8 °c & 9=
GICICE R e C o e ol o = s
Afr w19 38 ST A FEE @y F; 19 °C
W ST SHY AME W IR A4 g, Al
A gEE B Ny # fewlm @ g1 9
aer, e fawm wn fafine wiam %
I ol ot 3, = wear 87

(a) Tafere a=wr
(b) MEHCH T
(c) %‘sffﬁaaﬁ
(d) sgrE

i

36. Ig T, o w wmyndt st € (aq)
areft S 3 W g™ % wEw e 9
TeE! (B YAl bb) & UWIT &l €hdll B,
T HEerdt 87

{a) T5& A weaa
 (b) SAUMTET YEETET
{c} THTET YeEa
(d)”_wmaﬂtm"maﬁmm
37. 5a e wfaet § sro @ swey

M SUUNEY H I9R W 5,
TA-H veatacl gt wmsfi St &7

fa) StwET
(b) TROTTET
fc) AL
(d) FgwRE

[P.T.O.




38. What is the ‘start
prokaryotic organisms?
fa) AUU
(b} UAG
{c) AUG
(d} AGG

codon’ in

39. Which one of the following radiations
is non-ionizing?
fa) X-rays
(b} Gamma-rays
{c) Fast neutrons
{d) UV light

40. Which one of the following inter-
specific crosses will be chosen
to artificially resynthesize the
Gobhisarson (Brassica napus) oil-
yielding crop?
fa) Brassica campestris x

Brassica nigra
fb) Brassica oleracea x
Brassica nigra
fc} Brassica campestris x
Brassica oleracea
{d) Brassica campestris x
Eruca sativa

41. Which one of the following seeds
belongs to rccalcitrant category?

(a) Potato
{b) Coconut
fcj Wheat

(d) Sesamum

42. At which tempecrature range is
cryopreservation done?
fa] -150°C to -196 °C
b} -40°C to -60°C
fc} 0°C to 4 °C
{d) -1°C to -20°C
N-DTQ-K-CIT/12A
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43. Male sterility is wused for the
production of
fa) composite varieties
(b) hybrid varieties
fc) synthetic varieties
{d) pure line varicties

44. Open pollination of a group of
genotypes (generally seclected) in
isolation in such a way to promote
random mating inter se is called
fa) Biparental cross
(b) Polycross
{c} Three-way cross
{d) Backcross

45. Primula is a typical example of
heteromorphic saprophytic system
of incompatibility where two types
of flowers, pin and thrum are
observed. The compatible mating
does occur in the casc of
fa) pin x pin flowers
(b} thrum x thrum flowers
{f¢/ pin x thrum flowers or its

reciprocals _

(d) all possible combinations

46. Which one of the following crops is

often cross-pollinated?
{a} Maize . |

{b) Groundnut

fc} Rice

(d) Sorghum




38. WgFsh fal # ‘wroemowRz F B
&7
{aj AUU
(b) UAG
{c) AUG
{d) AGG

39, ffufgas ot 4§ & 39w
M 7

(@) T

(bj T~ feRTat

(c) 34 =gH

(d) Fo Hio weHTH

- 40, Frafofaa sraoemds ol ° @ fee o
# 999 Ad 399 H et nfie
(ferr Fma) A wow B FHW MW
[aviiie &0 % forn foran smom?

(a) FFT FrfPT x T W
(b} AT IR x JHéPr TI57T
(c) AR FmfGa x HaF e
(d) R FRZE x FEF dergar

41, Fefafe il & 4 FF-w ™ g
- "ar & ar=arta I B?
fa) AT
(b) A&
(c) T
(dy fa=

42. fra quam o w R e S
&7
(@ -150°C ¥ -196°C
(b} —40°C | -60°C
) 0°C & 4°Cc
{d -1°C § -20°C
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43.

T e & I fred IarT 7 R
EIGIL

(@) Tofm frat
(b) G foreH
(c) wfere fres
(d) o <veRm fore

44, 9y i AgfRss T A NEfrd w0 F

forg wefem § STt & @ A (v
TUURHT ) TT STATE TATY) 1 gt 87

(@) fimda wR
(b) FEER

fc) Ta-umii g
(d) * weta T

45. gy afE=ra i fawed goshd

el w1 TR wedt 3eE 8, gl a
Tt % g, A iR 9w 2@ W B
e gt 1 dira @ o firerar 87

) TR x W

(b) ¥ x9R YA

() T x 9" 79 =@ g9 oA
(d) o wef we

46. frfafad wudl 1 4 FH-H & TR

GU-gTrTioTg it 27
{a) H&T

(b)
fc} €A
(d) HEm

[P.T.O.




47. Consider the following cvents which
are significant in the development
of improved varieties/hybrids of
plants :

1. Morgan discovered genes on
chromosomes

2. Knight noted that male and
female parents contributed
equally to F, géneration

3. Correns and de Vries
rediscovered -Mendel’s laws of
heredity

4. Tomato carrying Flavor Savor
gene introduced

What is the correct chronological
sequence of the above events?

(a} 1-2-34
(b 2-3-1-4
c) 3-2-1-4
(d) 2-1-4-3

48. Consider the following statements
associated with self-incompatibility
in crop plants :

1. Heteromorphic system shows
only gametophytic control of
self-incompatibility.

2. Both sporophytic and
gametophytic controls of self-
incompatibility are found in
homomorphic system.

Which of the statements given
above is/are correct?

{a) 1 only

(b} 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

N-DTQ-K-CIT/12A
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49. The production possibility curve is
also known as

(a)
(b)
(c)
(d)

Iso-cost curve
Iso-preduct curve
Iso-revenue curve

Isoquant

50. Introgression can be defined as

(a)

(b)

(c}

{d)

51. The

transfer of a few genes from
one species into the full diploid
chromosome complement of
another species

transfer of a haploid set of
chromosomes of one specics
into another by removing one
haploid set of chromosome
complement of another species

substitution of a few genes of
one species by some number of
genes of another species
Rl r

substitution of full chromo-
some complement of one
species by the full chromosome
complement of anothe‘r species

components of a synthetic

variety consist of a number of

fa)
(b)
(c)
(d)

open-pollinated varicties -
inbred lines tested for GCA
inbred lines tested for SCA

inbred lines




47. fcifafes gest @ fer fifse st gl
) gul feedt/awt & o § wewagd
3

|, s o o e ) @ e

2. e ¥ wmn T8 W iR mrEr sHent A
T A F, AR R g

3. #tm ot @ aiw Y dw F
Rk Frel &t g g

4. TR AR 7Y AR H FAITH

ST TSl N WE HAGHEA 1 -7

(@) 1-2-3-4

(b} l2—3—1-4_

(o) 3-2-1-4

(d) 2-1-4-3
48. T URYl A W@-ETGal @ @t
Frfaftea wuai w fommr AT .

1. faowed gonel @ -@rar o Shaw
g P e 3

2. WUEEd voelt # wE=-HETadl &

sfomy-3gfdl Si eIl TR
& 3 & frgaw fiwma

I Fu ° W wE-W/E G 3T
fa) HadA 1

(b) S 2

(¢) 132

(dy Ad1mad2
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49, ITAET OS] o 1 fohw o AW | of
S 87

(@) |UH AP Tk
(b) TVHRAE IF
{c) T TS o5

(d) EHT AT

50. s @ frm wew afwfis femm =
T &7

(@) T sifa i F SH F o Ald
% gof Ffm e g § T

() T ifa ¥ I F A PRE

% A TgEE A SR, S
w W F T T FTH
.mﬁmwﬁmmm%

(c) 1 fx & At A T qE T
T S A 3 A w0 wier

(d) ¥ Sfe & P TEE TF T TH
S % ot ToTEE T 1 Sfdeare

51, & AfteE i % a2w fhus aniee @
T 87 )

(o) TEa-T ST wwT TR

) GCA ¥ T wifdm g8
-G FHEH

(© scaA *F fm ulifs =ga-R
HA:WSTE SN

(d) FEA-8 G TR

[P.T.O.




52. Consider the following crops :

54. Free Al3* ions contribute to

1. Baj
e @) native acidity
2. Cotton
l 3. Maize fb) potential acidity
4. Rice : fc) active acidity

Which one of the following is the
correct sequence of the above crops
according to the period of the

(d) nascent acidity

|
|
|
|
| devclopment of first hybrld varieties 55. Match List-I with LlSt—‘q and select .
| in India? tl.-xe correct answe_r using the code
given below the Lists :
| 93—
| fa) - 2-3-1-4 List-I List-II
(b) 1-3-2-4 {Type of mineral/ (Specific example)
| rack)
©fe) 3-1-2-4 A. Primary mineral 1. Quartz
| " 2 B. Clay mineral 2. Sandstone
(d) 3-2-1-4 C. Sedimentary 3. Marble
* rock
53- Match List-1 With LiStTII and Select D. Metamorphic 4. Illite
the correct answer using the code rock
‘ given below the Lists :
Code :
List-I List-II
{Crops) (Varieties/ Hybrids) fa} A B C D
A. Wheat 1. Kiran, Arun 1 4 2 3 *
B. Maize 2. CPAN 3004, (b) A B C D
Raj 3777 1 2 4 3
C. Rice 3. Nandi 32, Ananth c] A B C D
D. Pear]l millet 4. Tulasi, Heera 3 4 2 1
Code : {d) 1; ]23 2 }1)
fa) A B C D _
2 4 1 3 56. Which one of the following pairs is
| - not correctly matched?
b} A B D
3 4 1 2 {a) Sphalerite : ZnS
{c A B C D (b) Hausmannite : MnQ,
2 1 4 3
(c¢) Magnetite v Fez0,
d A B C D o
3 1 4 9 {d) Variscite 1 AIPO,. 2H,O

N-DTQ-K-CIT/12A 20




52, Frefafae woet @ fem A - 54. T A3t o e dem 2w &7
1. @ o () WFd (3R=) v
2. wAE . - (b) WP @
3. W@l . () wiE s
4. 9H | | (d) TR TR

aiE # e dw Rt ¥ G R - -
s & o, FefiRed # @ @@ 55 T W g0 @ gifw R wn

T U Gl B AE A A7 R %:ﬁ%ﬁuﬂq@mmmwﬂ
(o) 2:3-1-4 ST |
) 1sme -1 " gshn
(e 3-1-2-4 (i /de w w)  (Fafire seTew)
(d) 3-2-1-4 : .
A. MU @i 1. wiw
53. -1 ® -1 @ gafw A wen B. e af 2. g
‘et F A e T gz = oA e N
SRt N C. 3E|E A 3. TEd
: D. EwiE 9 4, 3@
(S ST & -
(Faer) (R /=) e
A N 1. femm, arem - (a} 1: ‘f- <23 ?
B. wa&m 2. CPAN 3004, .
o "Raj 3777 &) ’: ? 2 ?
C. 4™ 3. 741 32, AU © A ‘B ¢ D
D. = 4. qerd, @ 3 4 2 1
@A B C D
%e 3 2 4 1
@ 2 2 0 7 s6. P gt # ¥ W w gikm
) . .
) A B C D R _
3 4 1 .2 (@) U : ZnS
@ A B C D () TR : MnO,
> b4 3 () AMIE : Fe,0,
@ A B C D
3 1 4 2 (d) e : AIPQ, -2H,O
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57. Anion exchange is significant in soils 59. Which one of the following pairs is

high in correctly matched?
fa) 2:1 clays and hydrous oxides
of Fe and Al {a} Dickite 2 : 1 non-expand-
| (b} 1:1 clays and hydrous oxides ing crystal lattice
| of Fe and Al _
fc) 2:1 clays fb) Illite 1 21 expanding
t .
‘ (d) 2:1:1 clays crystal lattice
‘ ‘ ‘Nacri : : - -
58. Match List-I with List-II and sclect . @ acrite 2 : 2 non-expand

. ing crystal lattic
‘ the correct answer using the code & ey ©

given below the Lists :

‘ List] List-II {d) Saponite : .2: 1 expanding
‘ (Diagnostic  (Major feature) crystal lattice
horizon)
‘ A. Mollic 1. Brittle pan, usually -
loamy textured, 60. Which one of the following clay
‘ weakly cemented minerals is formed under very

ing?
i B. Fragipan 2. Changed or altered advanced stage of weathering:

| by physical
‘ movement or by {a) Chlorite
chemical reactions

C. Cambic 3. Thick, dark- (b} Illite

coloured, high base
saturation, strong

structure (¢} Montmorillonite
D. Placic 4. Thin pan cemented .
with iron alone or {d) Kaolinite
manganese or
organic matter
Code : 61. Fulvic acid is soluble in
B c D _
“ 2 2 1 4 fa) both acid and alkali
m A B C D |
3 1 2 4 fb} acid only
g A B C D
4 2 1 3 {¢) alkali only
(d) A B c D
4 1 2 3 (d} organic solvents only
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| 57, waell & Fraffe A 4 Rret st @ 59, freifufis 7 3 9o @ gk 27

@ 2:1 gﬁ%rila?r( Fe @1 Al & (a) f&Ewme : 2:1W-fawfa frea
ERRISGREIE e . EIRED
tb) 1:1 gieehd 3 Fe AWl Al % {
e TeTEs () T@EE 21 foeria e
| {c) 2:;3&[&?‘@ . ‘ R
I @ 2:1:1% c) w22 f-faaia fwea
58, gh-1 B g1 ¥ g A a ST
g & R EaRCiti:
s g R w (d) &dme - 2: 1 fowaRa Beea
T
-1 Y11
(farfaw dew (v wreror)
feare) ' 60. Pt & & Fr-w w R TP,
A, Afs 1. T ggued, SrE: g  ofuER ¥ AR ST ERe W aa £7
m’ﬁama‘ 4. .
B W 2. s iy s (@) T
TR sgE aiafda (b) T
C. it 3. g, m\f’ﬁ,ﬁ?ﬁf{ 1
A, FTSE HE () e
D. wifirn 4. ¥aq dig - T
Sy FEE v & (d) wAnfEE
oY TR GGl 93
Fe 61. givww aner frm geraelian 37
. " - Ntal . ‘ -
- | A B C D G . .
@ 3 2 1 a4 (@) %R T @R G
() A. B C D
3 1 2 4 (b} e FA
€0 A- B C D
42 1.3, (c) Haa &R
d A B ¢ D
.. 4 1 2 3 (d) Faa W foemEs
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62. Consider the following :
Organic matter in soil influences

soil moisture

soil strength

1
2
3. soil structure
4. soil texture
5

soil temperature

Select the correct answer using the
code given below :

Code :

I

fal 1, 2, 3 and 4 only
{b) 1, 3, 4 and 5 only
f¢) 1,2, 3 and 5 only

{d 1,2, 3, 4and5

63. The ability of common ions to
flocculate so0il colloids is in thie
order of

fa} Al>Ca=H>Mg>K>Na
{b) Al=Ca=H>Mg>K>Na
fc} Ca>Al=H>Mg>K>Na

(d) Ca<Al=H>Mg>KsNa

- 64, According to USDA taxonomy, which
one of the following constitutes ‘soil
orders™
fa} Gelisol, Mollisol, Entisol
(b) Mollisol, Entisol, Fluvisol

fc) Entisol, Fluvisol, Gelisol

(d} Fluvisol, Gelisol, Mollisol

N-DTQ-K-CIT/12A 24

65. Which one of the following pairs is

not correctly matched?

f{a) Vertisols : Smectite

(b} Oxisols : Vermiculite
fc) Histosols : Organic matter

{d) Andisols : Allophane

66. Potential-determining ions -on the

exchange complex of soil are
fa) Na‘* and K*

(b) Ca?* and Mg2*

{¢ H* and OH~

{d) CI” and NO;

67. Higher saturation with which of the

following ions by soil colloids
causes deflocculation?

(@) Ca?*
{b) Fe2+ .
{c/ Na*

(d) A13+

68. The method of extraction of available

P in acid soils was given by
{a) Olsen et al. (1954)

(b} Bray and Kurtz (1945)

{c) Subbaiah and Asija {1956}

(d} Chesnin and Yien (1931}




62, F=feflas w fa=n $ifs .

a1 i & v TR e 2
1. T ATE &6
21 g i

2

3. & 9T S

4, RIS W

5. éamwr-raﬁ

M e Mo W o W A I
g :

W:

fa) ¥ad 1, 2, 33N 4
(b) FaA 1, 3, 43N 5
fc) a1, 2, 335
(d) 1,2, 3 43R5 ¥

63, WYRW IEH A T wiengel w ifa
F Y grar form sem 1 87

{a} A1>Ca=H>Mg>K>i\Ja
(b} . Al=Ca=H>Mg>K>Na
fcg Ca>Al=H>Mg>K>Na
{d] Ca<Al=H>Mg>K<Na

64. USDA Tfigw & arger, ffafga 4 @
- T HE T I /Y

(o) <fcraia, wifeia, wRata

(b) WTrET, TfReHTa, TafaEia
() fRara, wgfoata, Sfewte
(d) wifreia, Sfewta, wifmta
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66. a1 & At ¥ | FF-§ fasm-fufes

HE B 87

fa) Na* SRkt

(b} CaZ2* 3t Mmg?*
fc) HY 3 OH"

(@ ci- 3 NO;

67. Y3l wargst g1 Frfefiaa # & fvg s

&t 39 "ol 9 srgela g 22
(@) ca?*
b) Fe?*
() Na*

(d) A3+

68. vl Terelt ® W P & frswduw St fafy

fepert A sft? :
(@) e it 379 (1954)

(b) ¥ 3R FH (1945)

(c) geaan 3 s (1956)

(d) =&t it 3w (1951)

[P.T.O.




69. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List-I List-JT
{(Method of {(Useful range kpa)
measuring soil '
moisture)
A. Tensiometer 1. 0 to <-1500
. Resistance 2. 30 to <-10000
. blocks
C. Neutron 3. -100 to < -1500
scattering
D. Pressure 4. O to -85
membrane '
apparatus
Code :
(a) A B D
2 3 1 4
b) A B C D
4 1 3 2
fc) A B C D
4 3 1 2
d A B C D
2 1 3 4

70. Match List-1 with List-II and select

the correct answer using the code
given below the Lists :

List-I List-11
{Nutrient element) {Chief source in
the soil)
A. Nitrogen 1. Apatite
B. Phosphorus 2. Pyrite
C. Potassium 3. Organics
D. Sulphur 4. Mica

N-DTQ-K-CIT/12A

71,

T2,

73.

Code : T B B {
fa) A B C D
2 4 1 3 -
) A B C D
3 1 4 2
) A B C€ D
3 4 1, 2
@ A B C D
2 1 4" 3 ™

What is the "pH "for maximum
inorganic phosphorus availability
in soil? o :
fa) Above 7-0
{b) 60 to 7-0
{ci 40 to 60
{d) Below 40 . i

)

The terms ‘citrate soluble’ and ‘watcr
soluble’ are associated with which
of the following?
fa) Nitrogenous fertilizers
(b) Potassic fertilizers
{c) Phosphatic fertilizers €3
(d) None of the above

Isomorphous. substitution in
tetrahedral and octahedral shects
of <ayer .lattice aluminosilicate
clay minerals leads to permanent

" negative charge of the clay. Such
» substitution for -the

mincral
nontronite occurs in

(a} - the ‘tetrahedral’ layer a9
(b) the ‘octahedral’ layer

{c) both ‘tetrahedral’ and

- [octahedral’ layers

(d} the ‘octahedral’ layer and in
the interlayer space

st R




69. TH-I H FA-II § gl Ffg qu

gt & 9 e T g w1 W oud
mgﬁq:
-1 -1
(e st WA (STt Auft kpa)
= fafin)
A. gEeH ard 1. 0% <-1500
B. yiwy @ve 2. 50 ® < -10000
C. =g wehwfq 3. -100 ¥ < -1500
D. Tafegisussr 4. 09 -85
T :
(o) A B C D
2 3 1 "4
M A B C D
4 1 3 2
) A° B C D
4 3 1 2
d A B C D
2 1 3 4

70. g1 A g A gAkw Hifm ao

gt & M Ry T 5 w1 M W=
I gL
-1 geft-11

(T 7) (9= % g @)
A. HTEISH 1. wWerge
B. GeeRg 2. UEUse
C. qiefirm 3. o9
D. 74 (dewt) 4. AYF
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7= -
@@ A B C D
2 4 1 3
A B C D
3. 1 4 2
g A B C D
3 4 1 2
@ A B C D
2 1 4 3

71. 921 7 STieran s wiesi® wrorm &
o pH w0 R?
fa) 70F FTW
{b) 609 70
{c) 40% 60
(d) 4084~
72, ‘figeia ot Sw-geiea’ W
frafafga & 4 feas gy wmg 7
(o) TR S
(b) weufim Iew
c) IR e
fd) IF R | B A

73, ARG wegbrifdfase ghen wfet %
FEvhehd 3 ke wTE

4 gariow wfteamm & gies F wmh
Y AEY 3 WA 2| @l AieEe &
fore v v foafafea § | Bl
BT 27 .
{a) 9

(b) ‘EwTHE T

(c) ‘=qebeTRE’ W@ emweEE o




74. The

acid-neutralizing value of
the liming materials in ascending
order is
faj CaCQO, > CaSiO5 >

Ca0 > Ca(OH),
fb) CaSi0; <CaCOj <

Ca(OH), < CaO
{c) CaO<=<Ca(OH), <
(d} CaO <Ca(OH}, <

CaSi0O,; <CaCO;,

75. What are the nitrogen and P,Og

contents in diammonium
phosphate respectively in
percentage?

fa) 16 and 35

(b) 20 and 46
() 25 and 45

{d) 14 and 46

76. Which one of the following. pairs is

correctly matched?

(a) Bihar hairy Spilosoma
caterpillar obligua

(b} Black bean Lip&phis
aphid erysimi

fc) Brinjal shoot Agrotis
and fruit borer ipsilon

{d) Brown plant Nephotettix
hopper virescens

N-DTQ-K-CIT/12A
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77.

78.

Consider the following :
1. Black rust of wheat
2. Common bean mosaic
3. Fusarium wilt of tomato
What is the correct sequence of the
above as seed-borne, soil-borne and
air-borne respectively?
{a) 1-3-2
(b) 1-2-3
e 2-3-1
{d) 2-1-3
Match List-I with List-II and select
the correct answer using the code
given below the Lists !
List-1 List-II
{Crop} {Pest)
Chilli 1. Amrasca biguitula
: biguttula
Cotton 2. Emmalocera
depreseila
Pigeon pea 3. Mylabris pustulata
Sugarcane 4. Plutella xylostella
5. Scirtothrips dorsalis
Code :
{a} A B C D
4 5 3 2
{b) A B C D
4 5 2 3
g A- B C D"
5 1 3 2
(d} A B C D
5 2 1 3




74. IR @G R oo W fwsmaw o
U 0 A T R

fa) CaCOj >CaSi04 >
. Ca0 > Ca{OH),

fb) CaSiO5 <CaCOy <
Ca(OH, < CaO

{c) CaO<CalOH),; <
CaSi0; < CaCOy

L]

(dj CaO<Ca(OH), <
. CaSi0; < CaCO,

75. TREHIAEA wieke § TEeE 3t P,O,
31 gfoera | e e §7
(a) 1631‘1135
(b} 20 3R 46
c) 25 3K 45

(d) 14 3R 46

76. Prefifaa 3 & & F-w o g 37

{a) ﬁmfrﬁraagﬁ . WreE
Statcrpan

() REdhe . R
Qe

(00 FEFWE : TR
© Ud %A 94 gfaeid

(d) O IR GEH - [wRfew
arsfaw
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77. Trafafagn w famm Hifv - .
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76. Match List-1 with List-II and select

A

B.

the correct answer using the code
given below the Lists :

List-1 List-IT
(Diseases of crops) (Transmitiing vectors)
Stewart’s 1. Chaetocnema
disease of corn pulicaria
Little leaf of 2. Aphis gossypit
brinjal
Cotton wilt 3. Myzus persicae
Papaya mosaic 4. Melanoplus
differentialis
Cucumber 5. Cestius phycitis
mosaic
Code :
fa] A B C D E
1 4 3 5 2
() A B C D E
1 4 S 3 2
fc) A B C D E
4 5 2 3 1
(@) A B C D E
4 1 5 2 3

80. With reference to rice stem borer

(Scirpophaga incertulas), which one
of the following statements is
correct?

() The female moth has bright
yellowish brown forewings with
one black spot on each but
male is without black spot on
the forewings

{b) The male moth has bright
yellowish brown forewings with
one black spot on each while
female is without black spot on
the forewings
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fc The female moth has whitish
forewings with a series of black
spots along anal margin but
male is without black spots on
the forewings

-

{d} The male moth has whitish
forewings with a series of black
spots along anal margin but
female is without black spots
on the forewings

81. Consider the following :

Potato virus X is spread through

the vector, Myzus persicae

2. contact betwcen infected and
healthy plants

3. contaminated knife used to cut
tubers for planting

Select the correct answer using the
code given below :

Code :
fa) 1,2 and 3
{b) 1 and 2 only

{0 2 and 3 only -
(d) 1 and 3 only

82. In a tomato held, symptoms appear

as curled leaflets of reduced size,
yellowish in colour, giving the
plants a bushy appearance. Which
one of the following is the correct
name of the disease?

(¢} Tobacco mosaic virus
{p} Cucumber mosaic virus
{c/ Angular spots

{d) Leaf curl
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83. The adults of Leucinodes orbonalis

are identified by which of the
following?

{a) Pale yellow abdomen and fore-
wings, white hind wings, the
head and thorax being grey

(b} The body is straw-coloured on
the dorsal side while the
ventral side being black

(¢} Adults deep brown with black-
spotted forewings and fringed
hind wings

{d) Moths are medium-sized and
wings are whitish bearing
brown patches

84. Which one of the following crops is

affected by Diamond-back moth’?

{a) Sugarcane

fb) Coffee
{c) Cabbage
(d} Okra

85. Which one of the following would be

the best method to manage the
shoot and fruit borer of brinjal?

{a) To spray systemic insecticide

(b} To pruﬁe the infested shoot
and pluck the infested fruit

(c) Regular monitoring for the
ingect followed by pruning,
destruction of caterpillar and
need-based sprays by effective
contact insecticide

{d) Mechanical destruction of
caterpillars followed by sprays
of systemic insecticide
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86. Chrysoperla carnea is a
{a) parasite |
(b) parasitoid
fc) predator

(d} scavenger :

87. Which one of the following is a
monophagous pest of crops?

{a) Hairy caterpillar
" {b) Stem borer
fc) Pollu beetle

(d) Swarming caterpillar

88. Which one of the following is the
safer insecticide to save naturally
useful insects/organisms?

{a) Monocrotophos
(b) Carbofuran
{c¢} Quinalphos

{d) Endosulfan

89. The volumetric efficiency of a spray
" equipment refers to the

(a) capacity of a spray tank in
terms of volume

(b) average particle size of the
spray droplet

() amount of spray material
discharged per unit of time

(d} ratio between actual volume of
" the spray fluid discharged and
plunger displacement
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90. Which one of the following pesticides

is used for fumigation control of
insect and rodent pests in stored
grains, grain products, in empty
warehouses and packing materials?

{a} Parathion methyl
{b) Propoxur
fe) Phorate

{d) Phosphine

91. Consider the following insecticides :

1. Carbofuran
2. Chlorpyrifos
3. Cypermethrin

4. Fenitrothion

Which of the above arc non-
systemic insecticides?

(@) 1 and 4

{b) 1 and 2 only
f¢g 1,2 and 3
(dj 2,3 and 4

92. Consider the following :

1. Beauveria bassiana

2. Metarhizium anisopliae

3. Paecilomyces fumosoroseus
Which of the above is/are used as
biopesticide(s)?

fa) 1 only

(b) 1 and 2 only

{0 2 and 3 only \

{d) 1,2 and 3
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93. Which of the following plant specics
are reported to possess insecticidal
activity?

1. Ageratum conyzoides

2. ' Azadirachta indica

3. Chrysanthemum cinerariaefolium

4.  Saccharum officinarum

~ Select the-correct answer using the

code given below :

IICc»de :

{aj 1 and 4
fb) 1 and 2 only o
fg 1,2 and 3

(d) 2,3 and 4

94, Which of the following insecticides

can be used for seed treatment?
1. Imidacloprid

2. Carbosulfan . -
3. Carbofuran
4

Acetamiprid

Select the correct answer using the
code given below :

Code :
“ A

fa) 1 and 4
(b) 1 and 2 only
fc) 1,2 and 3

{d 2,3 and 4
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95. Which of the

following nozzles
should be recommended for the
effective application of weedicide?

fa} Cone-mist type nozzie
(b} Centrifugal type nozzle
{c} Three-action nozzle

(d} Flood jet type nozzle

96. Consider the following :

Disadvantages of dusting include

1. loss of chemical due to drft

2. less efficient dcposition of dust
particles on plants

3. tendency of chemical to
separate itself from carrier
material

4, increascd toxic hazard to the
operator

Which of the above are correct?
{fa) 1, 2 and 3 only

(b) 1, 3 and 4 only

(c) 1,2 and 4 only

(d) 1,2, 3 and 4

97. A farmer grows cotton, maize and

wheat on 1 hectare, 5 hectares and
4 hectares of land respectively. The
average yields of cotton, maize and
wheat per hectare on his farm are
4 q, 20 q and 25 q as against State
averages of 5 g, 10 q and 20 q for the
respective crops. What is the crop-
yield index of his farm?

(@) 158%
(b) 148%
{c) 125%

{d) None of the above
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Which one of the following sprayers
would require maximum volume of
solution to cover one hectare of
wheat crop?

fa) Low-volume sprayer
(b) Knapsack sprayer'
{c} Atomizer

(d} Ultralow-volume sprayer

99. Which one of the following is the

leading turmeric producing and
trading State?

(a) Andhra Pradesh "
{b) Kerala
fc¢) Maharashtra

fd} Tamil Nadu

100. Consider the following statements :

1. Eugenol is the major
component in clove oil which
has anti-microbial properties.

2. Ellagic acid which is anti-
carcinogenic is found in
pomegranate juice.

Which of the statements given
above is/are correct?

(a) 1 only
(b} 2 only
{¢¢ Both 1 and 2

(d) Neither 1 nor 2
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101. Which one of the following pairs is
correctly matched?

{a) Averrhoea : 2n=24
carambola

(b} Prunus 1 2n=18
armeniaca

(¢} Vitis vinifera : 2n=48

(d) Ficus carica : 2n=18

© 102. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-1I
{Vegetable) {Specific
characteristic)

A. Chow-Chow 1. Tubercle
B. Bitter gourd 2. Single seed
C. Muskmelon 3. Peduncle spiny
D. Cucumber 4, Full slip

Code :

faj A B C D
) A B C D

2
fc) A B C D

) A B C

N O
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103. Match List-I with List-IT and select
the correct answer using the code
given below the Lists :

List-I
(Kind of fruit]
A. Berry
B. Pepo
C. Drupe
D. Pome
Code :

(a} A B

2 3
(b} A B

2 1
fcg A B

4 3
@ A B

4 1

W =0 WO =0

List-IT

(Crop)
Pcach
Apple
Squash
Citrus

b

Mg Ng QD U0

104. Match List-1 with List-II and select
the correct answer using the code
given below the Lists :

oow>

List-I
(Crop)

Marigold
Tuberose
Carmnation
Gladiolus

Code :
(a)

(b)
{c}

(d)

N N
A wm I b ™

NGO =0 WO S0

List-IT
(Method of
propagation)
Terminal cutting
Corm
Bulb
Seed

wyg Ng Ng wWg
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105. Consider the following crops :

1. Mango

2. Sweet Orange
3. Pomegranate -
4

Rose

Which of the above crops are
commercially propagated by shield
budding?

(@ 2 and 3
(b) 3 and 4
c) 2 and 4

(d) 1 and 4

106. Which one of the following is the best

method of vegetative propagation in
Aonla {(Emblica officinalis)?

(a) Veneer grafting
(b} Air layering
{¢) Chip budding

(d} Patch budding

107. Consider the following :

The two most important rcasoens
for taking up grafting and budding
are to

1. change the cultivars of
established plants
develop new hybrids

obtain the benefits of some
rootstocks

4. control virus disecases
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Select the correct answer using the
code given below :

Code :

(a) 1 and 2
(b) 1 and 3
(c) 2 and 4

(d) 3 and 4

108. Which system of planting accommo-

dates maximum number of plants
per unit area for a given spacing?

{a) Triangular system
(b} Square system

{c) Hexagonal system

{d) Quincunx system

109, Consider that in brinjal, fruit sect

occurs in the following types of
flowers :

1. Long styled

2. Medium styled

3. Pseudoshaort styled
4. Short styled

Which of the above are correct?

(@ 1 and 3
(b) 1'and 4
() 1 and 2
(d) 3 and 4 *
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110. The rosetting in pome fruits is due to

(a) molybdenum deficiency
(b} nitrogen deficiency
(¢} magnesium deficiency

(d} zinc deficiency

111, Which one of the following tomato

varieties is indetcrminate type?
{a} Punjab Chhuhara -

(b} Pusa Ruby

{c) Pusa Sheetal

(d) Pusa Early Dwarf

Consider the following growth

regulators :

1. GA

2. IBA '
3. NAA

4. 24D

Fruit set in chilli can be improved
by the application of which of
the  above-mentioned  growth
regulators?

fa}j 2 and 3
(b) 2 and 4
fc¢¢ 1 and 4

{d) 1 and 3
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115. Consider the fOlloxkring :

113. Which one of the following pairs has
the highest level of vitamin A and
calcium?

fa} Turnip green, Kale
(b) Celery, Brussels sprouts

{cj) Drumstick, Chow-Chow
(Sechium)

(d} Amaranth, Swiss chard

114. Sodium benzoate is added for the

preservation of the fruit juice in the
concentration range of

(@) 0-01-0:5%
(b) 0-06-010%
) 1-1-1-5%
{d) 16-2:0%

1. Cuttings”
2. ScédsJ f
3. Suckers
By which of .the above is

chrysanthemum propagated?
fa) 1 only ' '

() 1and 3 only

fc) 2 and 3 only

(d) 1, 2 and’'3 =~ Ty

116. 'Amor.lg the following Stétes, which
. one has the highest area under

jasmine crop?

fa) Andhra Pradesh
(b) Tamil Nadu
fci Goa

{d) Kerala
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117. Match List-I with List-II and selecf
the correct answer using the code
given below the Lists :

List-I List-IT
A. Herbaceous "1, Bricking
border RO

tw

Mughal garden 2. Tree of solitude

C. Japanese garden 3. Baradari

D. Lawn 4. Back and fore-
. groundl
Code :
fa) A B C D
1 2 3 4
(b} A B C D
1 3 2 4
{c A B C D
4 .2, .3 .1
{d) A B C D
4 3 2 1

118. Match List-1 with List-II and select
the correct answer using the code
- given below‘the Lists :

List-1 List-II
(Crops) {Disorders)
A. Gladiolus 1. Bullhead
B. Carnation = 2. Neck bending
C. Rose £ +-3. Tip burning
D. Gerbera 4. Calyx splitting
Code :
‘v i) A B C-:D
(b} A B C D
3 1 4 2
{c) A B C D
2 1 4 3
d A B C D
2 4 1 3
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119. Match List-I with List'll and select
the correct answer using the code
given below the Lists :

List-T List-1I
A. Hops 1. Glycyrrhiza glabra
B. Ambrette 2. Salvia sclarea
C. Clary sage 3. Abelmoschus
muschatus

D. Liquorice 4. Humalus lupulus

Code: « . .

(ag A C D
4 1 3 2

b} A B C D
4 3 1 2

. Y £l
fc0 A B C D
2 3+ 1 4
{dl A B C D
2 1 3 4

4

120. Consider the following statements :

1. Withania somnifera is an
annual plant.

2. Plantago ovata is a small

perennial shrub.
i

Which , of the statements given
T S R TS e r
“above 'is/are correct?

= fu *

{a} 1 only -
(b} 2 only
{c/ Both 1 and 2

. {d} Neither 1 nor 2 '

‘A




117. g1 @ gD @ PRmART T, 119, TR -l @GR B T

HoEt % A9 R e g A Wl
I AT ‘
-1 HEft-11

A ymat 1. fe-f
B. & rEA 2. & i wicheyeg
C. St mEA 3. and
D. @A 4. Y89 3G JO0T
R
(@@ A° B C D
1 2 3 4
‘) A~ B C D
1 3 2 4
) A~ B C D
4 2 3 1
) A~ B C D
4 3 2 1

118. G-I W ThH-II A gl Hife am

giat & = fu g g = v\ w=oad
W?\[ﬁ'q:
-1 11
(wae) (FreeR)
A ®feded 1. gads
B. &M 2. iar s
C. e 3. qum
D. SH&U 4. FEEAYS fadea
FE :
@ A B C D
3 4 1 2
) A B C D
3 1 4 2
fcg A B C D
2 1 4 3
d A B C D
2 4 1 3
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gfoet &% 4= g e 32 w1 wm W '@
E?RQF-TQ:

-1 -1
A T 1. fofirrgs &
B. iR 2. grfesar @A
C. w10 o 3. waEHIgFY vraed
D. fedl 4. gicE oyt
R :
@@ A B C D

4 1 3 2
() A B C D

4 3 1 2

) A B C D
3 1 4

d A B C D
3

120. Fafaftas st w fomr $ife
1. e gafiea & aifde den 21

2. WM 3Rl T VA qgaAdE g
2l

I FuAt § | RA-91/® G B/R7
fa) w1

(b) FAA 2

c) 1 32 gnt

(d) @ 1M 2

[P.T:O.
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Note : English version of the instructions is printed on the front cover -of this Booklet.




